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1028
March 26, 2021, 11:47 a.m.

FYBSc Sem-I Electronic Science Paper- II Electronic Devices
and Circuits. Internal Exam. 26/03/2021 11:00AM to
12:00Noon
End Test Successfully! Thank you.

Your score: 85% (8.5/10)
Duration: 0:17:09

1.

2.

3.

4.

5.

0.5 pointsSemiconductors are the substances whose conductivity lies between that of-----------------------

Your Answer:

Conductor and Insulator

Conductor and Metal

Plastic and wood

Insulator and Gold

0.5 pointsPure form of semiconductor is called as------------------------------

Your Answer:

Extrinsic Semiconductor

P- type semiconductor

N-type semiconductor

Intrinsic Semiconductor

0.5 points------------------ is the best example of Conductor.  

Your Answer:

Gold  

Germanium

Silicon  

Rubber

0.5 pointsAtomic number of Germanium (Ge) is------------  

Your Answer:

34

33

32

31

0.5 points------------------- is the trivalent impurity atom.

Your Answer:
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6.

7.

8.

9.

10.

Boron  

Antimony

Phosphorous

Arsenic

0.5 pointsJunction Capacitance of diode is ------------------------with increasing depletion region width.

Your Answer:

increases

decreases

remains constant

Nonersenic

0.5 pointsThe abbreviation N-type in semiconductor used for….

Your Answer:

acceptor  

donar

trivalent

pentavalent

0.5 pointsThe width of depletion region is about………..

Your Answer:

2 to3 mm

2 to3 cm

2 to3 nm

2 to3 μm

0.5 pointsAll metals are good ----------------------------of electricity

Your Answer:

Insulators  

Semiconductors

Conductors

None

0.5 pointsThe process of adding impurity in to the semiconductor called as……………  

Your Answer:

mixing  

merging  

doping    
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11.

12.

13.

14.

15.

16.

17.

18.

integrating

0.5 pointsBoron is a trivalent impurity atom

Your Answer:

True

False

0.5 pointsAll metals are bad conductors of electricity

Your Answer:

True

False

0.5 pointsAtomic number of silicon is 14

Your Answer:

True

False

0.5 pointsInsulators have narrow forbidden energy band gap

Your Answer:

True

False

0.5 pointsAt 25 degree Celsius temperature semiconductor acts as insulator

Your Answer:

True

False

0.5 pointsSilicon and germanium have tetravalent structure

Your Answer:

True

False

0.5 pointsThe breakdown voltage decreasing with increasing the diode temperature

Your Answer:

True

False

0.5 pointsThe permittivity of semiconductor means ability to store the impurity.
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19.

20.

Your Answer:

True

False

0.5 pointsAtomic number of Germanium is 23.

Your Answer:

True

False

0.5 pointsDiode is two terminal device flows unidirectional current.

Your Answer:

True

False
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1059
March 26, 2021, 11:27 a.m.

FYBSc Sem-I Electronic Science Paper- II Electronic Devices and Circuits.
Internal Exam. 26/03/2021 11:00AM to 12:00Noon
End Test Successfully! Thank you.

Your score: 70% (7/10)
Duration: 0:16:48

1.

2.

3.

4.

5.

0.5 pointsSemiconductors are the substances whose conductivity lies between that of-----------------------

Your Answer:

Conductor and Insulator

Conductor and Metal

Plastic and wood

Insulator and Gold

0.5 pointsPure form of semiconductor is called as------------------------------

Your Answer:

Extrinsic Semiconductor

P- type semiconductor

N-type semiconductor

Intrinsic Semiconductor

0.5 points------------------ is the best example of Conductor.  

Your Answer:

Gold  

Germanium

Silicon  

Rubber

0.5 pointsAtomic number of Germanium (Ge) is------------  

Your Answer:

34

33

32

31

0.5 points------------------- is the trivalent impurity atom.

Your Answer:

Boron  

Antimony
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6.

7.

8.

9.

10.

Phosphorous

Arsenic

0.5 pointsJunction Capacitance of diode is ------------------------with increasing depletion region width.

Your Answer:

increases

decreases

remains constant

Nonersenic

0.5 pointsThe abbreviation N-type in semiconductor used for….

Your Answer:

acceptor  

donar

trivalent

pentavalent

0.5 pointsThe width of depletion region is about………..

Your Answer:

2 to3 mm

2 to3 cm

2 to3 nm

2 to3 μm

0.5 pointsAll metals are good ----------------------------of electricity

Your Answer:

Insulators  

Semiconductors

Conductors

None

0.5 pointsThe process of adding impurity in to the semiconductor called as……………  

Your Answer:

mixing  

merging  

doping    

integrating
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11.

12.

13.

14.

15.

16.

17.

18.

0.5 pointsBoron is a trivalent impurity atom

Your Answer:

True

False

0.5 pointsAll metals are bad conductors of electricity

Your Answer:

True

False

0.5 pointsAtomic number of silicon is 14

Your Answer:

True

False

0.5 pointsInsulators have narrow forbidden energy band gap

Your Answer:

True

False

0.5 pointsAt 25 degree Celsius temperature semiconductor acts as insulator

Your Answer:

True

False

0.5 pointsSilicon and germanium have tetravalent structure

Your Answer:

True

False

0.5 pointsThe breakdown voltage decreasing with increasing the diode temperature

Your Answer:

True

False

0.5 pointsThe permittivity of semiconductor means ability to store the impurity.

Your Answer:

True
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19.

20.

False

0.5 pointsAtomic number of Germanium is 23.

Your Answer:

True

False

0.5 pointsDiode is two terminal device flows unidirectional current.

Your Answer:

True

False
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Dhurve rohini malhari 1033
March 26, 2021, 11:17 a.m.

FYBSc Sem-I Electronic Science Paper- II Electronic Devices and Circuits.
Internal Exam. 26/03/2021 11:00AM to 12:00Noon
End Test Successfully! Thank you.

Your score: 100% (10/10)
Duration: 0:13:09

1.

2.

3.

4.

5.

0.5 pointsSemiconductors are the substances whose conductivity lies between that of-----------------------

Your Answer:

Conductor and Insulator

Conductor and Metal

Plastic and wood

Insulator and Gold

0.5 pointsPure form of semiconductor is called as------------------------------

Your Answer:

Extrinsic Semiconductor

P- type semiconductor

N-type semiconductor

Intrinsic Semiconductor

0.5 points------------------ is the best example of Conductor.  

Your Answer:

Gold  

Germanium

Silicon  

Rubber

0.5 pointsAtomic number of Germanium (Ge) is------------  

Your Answer:

34

33

32

31

0.5 points------------------- is the trivalent impurity atom.

Your Answer:

Boron  

Antimony
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6.

7.

8.

9.

10.

Phosphorous

Arsenic

0.5 pointsJunction Capacitance of diode is ------------------------with increasing depletion region width.

Your Answer:

increases

decreases

remains constant

Nonersenic

0.5 pointsThe abbreviation N-type in semiconductor used for….

Your Answer:

acceptor  

donar

trivalent

pentavalent

0.5 pointsThe width of depletion region is about………..

Your Answer:

2 to3 mm

2 to3 cm

2 to3 nm

2 to3 μm

0.5 pointsAll metals are good ----------------------------of electricity

Your Answer:

Insulators  

Semiconductors

Conductors

None

0.5 pointsThe process of adding impurity in to the semiconductor called as……………  

Your Answer:

mixing  

merging  

doping    

integrating
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11.

12.

13.

14.

15.

16.

17.

18.

0.5 pointsBoron is a trivalent impurity atom

Your Answer:

True

False

0.5 pointsAll metals are bad conductors of electricity

Your Answer:

True

False

0.5 pointsAtomic number of silicon is 14

Your Answer:

True

False

0.5 pointsInsulators have narrow forbidden energy band gap

Your Answer:

True

False

0.5 pointsAt 25 degree Celsius temperature semiconductor acts as insulator

Your Answer:

True

False

0.5 pointsSilicon and germanium have tetravalent structure

Your Answer:

True

False

0.5 pointsThe breakdown voltage decreasing with increasing the diode temperature

Your Answer:

True

False

0.5 pointsThe permittivity of semiconductor means ability to store the impurity.

Your Answer:

True
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19.

20.

False

0.5 pointsAtomic number of Germanium is 23.

Your Answer:

True

False

0.5 pointsDiode is two terminal device flows unidirectional current.

Your Answer:

True

False
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Jagtap vishivajeet yuvraj,1053
March 26, 2021, 11:27 a.m.

FYBSc Sem-I Electronic Science Paper- II Electronic Devices and Circuits.
Internal Exam. 26/03/2021 11:00AM to 12:00Noon
End Test Successfully! Thank you.

Your score: 70% (7/10)
Duration: 0:20:34

1.

2.

3.

4.

5.

0.5 pointsSemiconductors are the substances whose conductivity lies between that of-----------------------

Your Answer:

Conductor and Insulator

Conductor and Metal

Plastic and wood

Insulator and Gold

0.5 pointsPure form of semiconductor is called as------------------------------

Your Answer:

Extrinsic Semiconductor

P- type semiconductor

N-type semiconductor

Intrinsic Semiconductor

0.5 points------------------ is the best example of Conductor.  

Your Answer:

Gold  

Germanium

Silicon  

Rubber

0.5 pointsAtomic number of Germanium (Ge) is------------  

Your Answer:

34

33

32

31

0.5 points------------------- is the trivalent impurity atom.

Your Answer:

Boron  

Antimony
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6.

7.

8.

9.

10.

Phosphorous

Arsenic

0.5 pointsJunction Capacitance of diode is ------------------------with increasing depletion region width.

Your Answer:

increases

decreases

remains constant

Nonersenic

0.5 pointsThe abbreviation N-type in semiconductor used for….

Your Answer:

acceptor  

donar

trivalent

pentavalent

0.5 pointsThe width of depletion region is about………..

Your Answer:

2 to3 mm

2 to3 cm

2 to3 nm

2 to3 μm

0.5 pointsAll metals are good ----------------------------of electricity

Your Answer:

Insulators  

Semiconductors

Conductors

None

0.5 pointsThe process of adding impurity in to the semiconductor called as……………  

Your Answer:

mixing  

merging  

doping    

integrating
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11.

12.

13.

14.

15.

16.

17.

18.

0.5 pointsBoron is a trivalent impurity atom

Your Answer:

True

False

0.5 pointsAll metals are bad conductors of electricity

Your Answer:

True

False

0.5 pointsAtomic number of silicon is 14

Your Answer:

True

False

0.5 pointsInsulators have narrow forbidden energy band gap

Your Answer:

True

False

0.5 pointsAt 25 degree Celsius temperature semiconductor acts as insulator

Your Answer:

True

False

0.5 pointsSilicon and germanium have tetravalent structure

Your Answer:

True

False

0.5 pointsThe breakdown voltage decreasing with increasing the diode temperature

Your Answer:

True

False

0.5 pointsThe permittivity of semiconductor means ability to store the impurity.

Your Answer:

True
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19.

20.

False

0.5 pointsAtomic number of Germanium is 23.

Your Answer:

True

False

0.5 pointsDiode is two terminal device flows unidirectional current.

Your Answer:

True

False
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Kare sagar Bapurao Roll No-1020
March 26, 2021, 11:30 a.m.

FYBSc Sem-I Electronic Science Paper- II Electronic Devices and Circuits.
Internal Exam. 26/03/2021 11:00AM to 12:00Noon
End Test Successfully! Thank you.

Your score: 95% (9.5/10)
Duration: 0:27:43

1.

2.

3.

4.

5.

0.5 pointsSemiconductors are the substances whose conductivity lies between that of-----------------------

Your Answer:

Conductor and Insulator

Conductor and Metal

Plastic and wood

Insulator and Gold

0.5 pointsPure form of semiconductor is called as------------------------------

Your Answer:

Extrinsic Semiconductor

P- type semiconductor

N-type semiconductor

Intrinsic Semiconductor

0.5 points------------------ is the best example of Conductor.  

Your Answer:

Gold  

Germanium

Silicon  

Rubber

0.5 pointsAtomic number of Germanium (Ge) is------------  

Your Answer:

34

33

32

31

0.5 points------------------- is the trivalent impurity atom.

Your Answer:

Boron  

Antimony
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6.

7.

8.

9.

10.

Phosphorous

Arsenic

0.5 pointsJunction Capacitance of diode is ------------------------with increasing depletion region width.

Your Answer:

increases

decreases

remains constant

Nonersenic

0.5 pointsThe abbreviation N-type in semiconductor used for….

Your Answer:

acceptor  

donar

trivalent

pentavalent

0.5 pointsThe width of depletion region is about………..

Your Answer:

2 to3 mm

2 to3 cm

2 to3 nm

2 to3 μm

0.5 pointsAll metals are good ----------------------------of electricity

Your Answer:

Insulators  

Semiconductors

Conductors

None

0.5 pointsThe process of adding impurity in to the semiconductor called as……………  

Your Answer:

mixing  

merging  

doping    

integrating
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11.

12.

13.

14.

15.

16.

17.

18.

0.5 pointsBoron is a trivalent impurity atom

Your Answer:

True

False

0.5 pointsAll metals are bad conductors of electricity

Your Answer:

True

False

0.5 pointsAtomic number of silicon is 14

Your Answer:

True

False

0.5 pointsInsulators have narrow forbidden energy band gap

Your Answer:

True

False

0.5 pointsAt 25 degree Celsius temperature semiconductor acts as insulator

Your Answer:

True

False

0.5 pointsSilicon and germanium have tetravalent structure

Your Answer:

True

False

0.5 pointsThe breakdown voltage decreasing with increasing the diode temperature

Your Answer:

True

False

0.5 pointsThe permittivity of semiconductor means ability to store the impurity.

Your Answer:

True
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19.

20.

False

0.5 pointsAtomic number of Germanium is 23.

Your Answer:

True

False

0.5 pointsDiode is two terminal device flows unidirectional current.

Your Answer:

True

False
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Kharat Rutuja 1021
March 26, 2021, 11:16 a.m.

FYBSc Sem-I Electronic Science Paper- II Electronic Devices and Circuits.
Internal Exam. 26/03/2021 11:00AM to 12:00Noon
End Test Successfully! Thank you.

Your score: 90% (9/10)
Duration: 0:14:44

1.

2.

3.

4.

5.

0.5 pointsSemiconductors are the substances whose conductivity lies between that of-----------------------

Your Answer:

Conductor and Insulator

Conductor and Metal

Plastic and wood

Insulator and Gold

0.5 pointsPure form of semiconductor is called as------------------------------

Your Answer:

Extrinsic Semiconductor

P- type semiconductor

N-type semiconductor

Intrinsic Semiconductor

0.5 points------------------ is the best example of Conductor.  

Your Answer:

Gold  

Germanium

Silicon  

Rubber

0.5 pointsAtomic number of Germanium (Ge) is------------  

Your Answer:

34

33

32

31

0.5 points------------------- is the trivalent impurity atom.

Your Answer:

Boron  

Antimony
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6.

7.

8.

9.

10.

Phosphorous

Arsenic

0.5 pointsJunction Capacitance of diode is ------------------------with increasing depletion region width.

Your Answer:

increases

decreases

remains constant

Nonersenic

0.5 pointsThe abbreviation N-type in semiconductor used for….

Your Answer:

acceptor  

donar

trivalent

pentavalent

0.5 pointsThe width of depletion region is about………..

Your Answer:

2 to3 mm

2 to3 cm

2 to3 nm

2 to3 μm

0.5 pointsAll metals are good ----------------------------of electricity

Your Answer:

Insulators  

Semiconductors

Conductors

None

0.5 pointsThe process of adding impurity in to the semiconductor called as……………  

Your Answer:

mixing  

merging  

doping    

integrating
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11.

12.

13.

14.

15.

16.

17.

18.

0.5 pointsBoron is a trivalent impurity atom

Your Answer:

True

False

0.5 pointsAll metals are bad conductors of electricity

Your Answer:

True

False

0.5 pointsAtomic number of silicon is 14

Your Answer:

True

False

0.5 pointsInsulators have narrow forbidden energy band gap

Your Answer:

True

False

0.5 pointsAt 25 degree Celsius temperature semiconductor acts as insulator

Your Answer:

True

False

0.5 pointsSilicon and germanium have tetravalent structure

Your Answer:

True

False

0.5 pointsThe breakdown voltage decreasing with increasing the diode temperature

Your Answer:

True

False

0.5 pointsThe permittivity of semiconductor means ability to store the impurity.

Your Answer:

True
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19.

20.

False

0.5 pointsAtomic number of Germanium is 23.

Your Answer:

True

False

0.5 pointsDiode is two terminal device flows unidirectional current.

Your Answer:

True

False
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Nandini Bhandalkar
March 26, 2021, 11:53 a.m.

FYBSc Sem-I Electronic Science Paper- II Electronic Devices and Circuits.
Internal Exam. 26/03/2021 11:00AM to 12:00Noon
End Test Successfully! Thank you.

Your score: 90% (9/10)
Duration: 0:14:51

1.

2.

3.

4.

5.

0.5 pointsSemiconductors are the substances whose conductivity lies between that of-----------------------

Your Answer:

Conductor and Insulator

Conductor and Metal

Plastic and wood

Insulator and Gold

0.5 pointsPure form of semiconductor is called as------------------------------

Your Answer:

Extrinsic Semiconductor

P- type semiconductor

N-type semiconductor

Intrinsic Semiconductor

0.5 points------------------ is the best example of Conductor.  

Your Answer:

Gold  

Germanium

Silicon  

Rubber

0.5 pointsAtomic number of Germanium (Ge) is------------  

Your Answer:

34

33

32

31

0.5 points------------------- is the trivalent impurity atom.

Your Answer:

Boron  

Antimony
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6.

7.

8.

9.

10.

Phosphorous

Arsenic

0.5 pointsJunction Capacitance of diode is ------------------------with increasing depletion region width.

Your Answer:

increases

decreases

remains constant

Nonersenic

0.5 pointsThe abbreviation N-type in semiconductor used for….

Your Answer:

acceptor  

donar

trivalent

pentavalent

0.5 pointsThe width of depletion region is about………..

Your Answer:

2 to3 mm

2 to3 cm

2 to3 nm

2 to3 μm

0.5 pointsAll metals are good ----------------------------of electricity

Your Answer:

Insulators  

Semiconductors

Conductors

None

0.5 pointsThe process of adding impurity in to the semiconductor called as……………  

Your Answer:

mixing  

merging  

doping    

integrating
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11.

12.

13.

14.

15.

16.

17.

18.

0.5 pointsBoron is a trivalent impurity atom

Your Answer:

True

False

0.5 pointsAll metals are bad conductors of electricity

Your Answer:

True

False

0.5 pointsAtomic number of silicon is 14

Your Answer:

True

False

0.5 pointsInsulators have narrow forbidden energy band gap

Your Answer:

True

False

0.5 pointsAt 25 degree Celsius temperature semiconductor acts as insulator

Your Answer:

True

False

0.5 pointsSilicon and germanium have tetravalent structure

Your Answer:

True

False

0.5 pointsThe breakdown voltage decreasing with increasing the diode temperature

Your Answer:

True

False

0.5 pointsThe permittivity of semiconductor means ability to store the impurity.

Your Answer:

True
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19.

20.

False

0.5 pointsAtomic number of Germanium is 23.

Your Answer:

True

False

0.5 pointsDiode is two terminal device flows unidirectional current.

Your Answer:

True

False
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Salunke Tejas Vilas. Roll no.1012
March 26, 2021, 11:30 a.m.

FYBSc Sem-I Electronic Science Paper- II Electronic Devices and Circuits.
Internal Exam. 26/03/2021 11:00AM to 12:00Noon
End Test Successfully! Thank you.

Your score: 95% (9.5/10)
Duration: 0:28:54

1.

2.

3.

4.

5.

0.5 pointsSemiconductors are the substances whose conductivity lies between that of-----------------------

Your Answer:

Conductor and Insulator

Conductor and Metal

Plastic and wood

Insulator and Gold

0.5 pointsPure form of semiconductor is called as------------------------------

Your Answer:

Extrinsic Semiconductor

P- type semiconductor

N-type semiconductor

Intrinsic Semiconductor

0.5 points------------------ is the best example of Conductor.  

Your Answer:

Gold  

Germanium

Silicon  

Rubber

0.5 pointsAtomic number of Germanium (Ge) is------------  

Your Answer:

34

33

32

31

0.5 points------------------- is the trivalent impurity atom.

Your Answer:

Boron  

Antimony
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6.

7.

8.

9.

10.

Phosphorous

Arsenic

0.5 pointsJunction Capacitance of diode is ------------------------with increasing depletion region width.

Your Answer:

increases

decreases

remains constant

Nonersenic

0.5 pointsThe abbreviation N-type in semiconductor used for….

Your Answer:

acceptor  

donar

trivalent

pentavalent

0.5 pointsThe width of depletion region is about………..

Your Answer:

2 to3 mm

2 to3 cm

2 to3 nm

2 to3 μm

0.5 pointsAll metals are good ----------------------------of electricity

Your Answer:

Insulators  

Semiconductors

Conductors

None

0.5 pointsThe process of adding impurity in to the semiconductor called as……………  

Your Answer:

mixing  

merging  

doping    

integrating
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11.

12.

13.

14.

15.

16.

17.

18.

0.5 pointsBoron is a trivalent impurity atom

Your Answer:

True

False

0.5 pointsAll metals are bad conductors of electricity

Your Answer:

True

False

0.5 pointsAtomic number of silicon is 14

Your Answer:

True

False

0.5 pointsInsulators have narrow forbidden energy band gap

Your Answer:

True

False

0.5 pointsAt 25 degree Celsius temperature semiconductor acts as insulator

Your Answer:

True

False

0.5 pointsSilicon and germanium have tetravalent structure

Your Answer:

True

False

0.5 pointsThe breakdown voltage decreasing with increasing the diode temperature

Your Answer:

True

False

0.5 pointsThe permittivity of semiconductor means ability to store the impurity.

Your Answer:

True
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19.

20.

False

0.5 pointsAtomic number of Germanium is 23.

Your Answer:

True

False

0.5 pointsDiode is two terminal device flows unidirectional current.

Your Answer:

True

False
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Shivam ramesh saste ,1027
March 26, 2021, 11:16 a.m.

FYBSc Sem-I Electronic Science Paper- II Electronic Devices and Circuits.
Internal Exam. 26/03/2021 11:00AM to 12:00Noon
End Test Successfully! Thank you.

Your score: 95% (9.5/10)
Duration: 0:14:38

1.

2.

3.

4.

5.

0.5 pointsSemiconductors are the substances whose conductivity lies between that of-----------------------

Your Answer:

Conductor and Insulator

Conductor and Metal

Plastic and wood

Insulator and Gold

0.5 pointsPure form of semiconductor is called as------------------------------

Your Answer:

Extrinsic Semiconductor

P- type semiconductor

N-type semiconductor

Intrinsic Semiconductor

0.5 points------------------ is the best example of Conductor.  

Your Answer:

Gold  

Germanium

Silicon  

Rubber

0.5 pointsAtomic number of Germanium (Ge) is------------  

Your Answer:

34

33

32

31

0.5 points------------------- is the trivalent impurity atom.

Your Answer:

Boron  

Antimony
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6.

7.

8.

9.

10.

Phosphorous

Arsenic

0.5 pointsJunction Capacitance of diode is ------------------------with increasing depletion region width.

Your Answer:

increases

decreases

remains constant

Nonersenic

0.5 pointsThe abbreviation N-type in semiconductor used for….

Your Answer:

acceptor  

donar

trivalent

pentavalent

0.5 pointsThe width of depletion region is about………..

Your Answer:

2 to3 mm

2 to3 cm

2 to3 nm

2 to3 μm

0.5 pointsAll metals are good ----------------------------of electricity

Your Answer:

Insulators  

Semiconductors

Conductors

None

0.5 pointsThe process of adding impurity in to the semiconductor called as……………  

Your Answer:

mixing  

merging  

doping    

integrating
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11.

12.

13.

14.

15.

16.

17.

18.

0.5 pointsBoron is a trivalent impurity atom

Your Answer:

True

False

0.5 pointsAll metals are bad conductors of electricity

Your Answer:

True

False

0.5 pointsAtomic number of silicon is 14

Your Answer:

True

False

0.5 pointsInsulators have narrow forbidden energy band gap

Your Answer:

True

False

0.5 pointsAt 25 degree Celsius temperature semiconductor acts as insulator

Your Answer:

True

False

0.5 pointsSilicon and germanium have tetravalent structure

Your Answer:

True

False

0.5 pointsThe breakdown voltage decreasing with increasing the diode temperature

Your Answer:

True

False

0.5 pointsThe permittivity of semiconductor means ability to store the impurity.

Your Answer:

True
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19.

20.

False

0.5 pointsAtomic number of Germanium is 23.

Your Answer:

True

False

0.5 pointsDiode is two terminal device flows unidirectional current.

Your Answer:

True

False
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Surve Aakash Sandip [1005]
March 26, 2021, 11:18 a.m.

FYBSc Sem-I Electronic Science Paper- II Electronic Devices and Circuits.
Internal Exam. 26/03/2021 11:00AM to 12:00Noon
End Test Successfully! Thank you.

Your score: 85% (8.5/10)
Duration: 0:15:57

1.

2.

3.

4.

5.

0.5 pointsSemiconductors are the substances whose conductivity lies between that of-----------------------

Your Answer:

Conductor and Insulator

Conductor and Metal

Plastic and wood

Insulator and Gold

0.5 pointsPure form of semiconductor is called as------------------------------

Your Answer:

Extrinsic Semiconductor

P- type semiconductor

N-type semiconductor

Intrinsic Semiconductor

0.5 points------------------ is the best example of Conductor.  

Your Answer:

Gold  

Germanium

Silicon  

Rubber

0.5 pointsAtomic number of Germanium (Ge) is------------  

Your Answer:

34

33

32

31

0.5 points------------------- is the trivalent impurity atom.

Your Answer:

Boron  

Antimony
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6.

7.

8.

9.

10.

Phosphorous

Arsenic

0.5 pointsJunction Capacitance of diode is ------------------------with increasing depletion region width.

Your Answer:

increases

decreases

remains constant

Nonersenic

0.5 pointsThe abbreviation N-type in semiconductor used for….

Your Answer:

acceptor  

donar

trivalent

pentavalent

0.5 pointsThe width of depletion region is about………..

Your Answer:

2 to3 mm

2 to3 cm

2 to3 nm

2 to3 μm

0.5 pointsAll metals are good ----------------------------of electricity

Your Answer:

Insulators  

Semiconductors

Conductors

None

0.5 pointsThe process of adding impurity in to the semiconductor called as……………  

Your Answer:

mixing  

merging  

doping    

integrating
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11.

12.

13.

14.

15.

16.

17.

18.

0.5 pointsBoron is a trivalent impurity atom

Your Answer:

True

False

0.5 pointsAll metals are bad conductors of electricity

Your Answer:

True

False

0.5 pointsAtomic number of silicon is 14

Your Answer:

True

False

0.5 pointsInsulators have narrow forbidden energy band gap

Your Answer:

True

False

0.5 pointsAt 25 degree Celsius temperature semiconductor acts as insulator

Your Answer:

True

False

0.5 pointsSilicon and germanium have tetravalent structure

Your Answer:

True

False

0.5 pointsThe breakdown voltage decreasing with increasing the diode temperature

Your Answer:

True

False

0.5 pointsThe permittivity of semiconductor means ability to store the impurity.

Your Answer:

True
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19.

20.

False

0.5 pointsAtomic number of Germanium is 23.

Your Answer:

True

False

0.5 pointsDiode is two terminal device flows unidirectional current.

Your Answer:

True

False
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Akash Balgude
March 28, 2021, 11:48 a.m.

SYBSc Ele.Sci. Sem-I Paper I Comm. Electronics. Internal
Exam 28/03/2021 11:00AM to 12:00 noon
Thank you for successfully! given Internal Exam.

Your score: 35% (7/20)
Duration: 0:00:45

1.

2.

3.

4.

5.

0 / 1 point…………….. is the example of half duplex   communication.

Your Answer: Incorrect

Walky- talky

FM Radio  

Telephone  

T.V.  

0 / 1 pointMinimum Height of antenna should be……………….

Your Answer: Incorrect

λ

λ/3

λ/4

λ/2

0 / 1 pointNeed of modulation to avoid ……………………..

Your Answer: Incorrect

Fading

aliasing

signal

Interference

0 / 1 pointThe process of transfer of information is called as …………………….

Your Answer: Incorrect

Communication  

encoder

decoder  

channel

1 / 1 pointNoise is ……………………… signal.

Your Answer: Correct
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6.

7.

8.

9.

10.

necessary

wanted

unwanted

required

1 / 1 pointggdfdbfg

Your Answer: Correct

Channel

bandwidth

information

None

0 / 1 pointVoice frequencies (VF) ranging from.........................

Your Answer: Incorrect

30Hz to 300Hz

3MHz to 30MHz  

300Hz to 3KHz  

20Hz to 20KHz

1 / 1 pointThe frequency range of FM radio is from ...................................

Your Answer: Correct

78MHz to 118MHz

88 MHz to 108MHz 

88GHz to 108GHz 

88KHz to 108KHz

1 / 1 pointSignal to Noise ratio is preferred …………..as possible.

Your Answer: Correct

zero  

High  

Low

infinity  

0 / 1 pointPPM is the ……………….type of modulation.

Your Answer: Incorrect

pulse analog

pulse digital  

SYBSc Ele.Sci. Sem-I Paper I Comm. Electronics. Internal Exam 28/03/... https://testmoz.com/8465434/admin/print?format=compressed&force_p...

2 of 25 15/04/2021, 5:47 PM



11.

12.

13.

14.

15.

16.

17.

analog

digital

1 / 1 pointIndustrial noise is between 1 to 600MHz.

Your Answer: Correct

True

False

0 / 1 pointSignal bandwidth is always greater than Channel  bandwidth.

Your Answer: Incorrect

True

False

0 / 1 pointOptical fiber cable work on principles of total Internal reflection.

Your Answer: Incorrect

True

False

1 / 1 pointFM and PM are the types of angle modulation.

Your Answer: Correct

True

False

0 / 1 pointFrequency and wavelenght are reciprocal to each other. 

Your Answer: Incorrect

True

False

0 / 1 point modulating Signal frequency is always greater than Carrier signal frequency.

Your Answer: Incorrect

True

False

1 / 1 pointShot Noise is the internal type of noise.

Your Answer: Correct

True

False
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18.

19.

20.

0 / 1 pointPCM stand for Pulse Code Modulation. 

Your Answer: Incorrect

True

False

0 / 1 pointTelephone is an example of half duplex communication

Your Answer: Incorrect

True

False

0 / 1 pointIn communication transmitter acts as encoder.

Your Answer: Incorrect

True

False
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Holkar Pranjal Pandurang
March 28, 2021, 11:17 a.m.

SYBSc Ele.Sci. Sem-I Paper I Comm. Electronics. Internal
Exam 28/03/2021 11:00AM to 12:00 noon
Thank you for successfully! given Internal Exam.

Your score: 100% (20/20)
Duration: 0:21:59

1.

2.

3.

4.

5.

1 / 1 point…………….. is the example of half duplex   communication.

Your Answer: Correct

Walky- talky

FM Radio  

Telephone  

T.V.  

1 / 1 pointMinimum Height of antenna should be……………….

Your Answer: Correct

λ

λ/3

λ/4

λ/2

1 / 1 pointNeed of modulation to avoid ……………………..

Your Answer: Correct

Fading

aliasing

signal

Interference

1 / 1 pointThe process of transfer of information is called as …………………….

Your Answer: Correct

Communication  

encoder

decoder  

channel

1 / 1 pointNoise is ……………………… signal.

Your Answer: Correct

necessary
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6.

7.

8.

9.

10.

wanted

unwanted

required

1 / 1 pointggdfdbfg

Your Answer: Correct

Channel

bandwidth

information

None

1 / 1 pointVoice frequencies (VF) ranging from.........................

Your Answer: Correct

30Hz to 300Hz

3MHz to 30MHz  

300Hz to 3KHz  

20Hz to 20KHz

1 / 1 pointThe frequency range of FM radio is from ...................................

Your Answer: Correct

78MHz to 118MHz

88 MHz to 108MHz 

88GHz to 108GHz 

88KHz to 108KHz

1 / 1 pointSignal to Noise ratio is preferred …………..as possible.

Your Answer: Correct

zero  

High  

Low

infinity  

1 / 1 pointPPM is the ……………….type of modulation.

Your Answer: Correct

pulse analog

pulse digital  

analog
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11.

12.

13.

14.

15.

16.

17.

18.

digital

1 / 1 pointIndustrial noise is between 1 to 600MHz.

Your Answer: Correct

True

False

1 / 1 pointSignal bandwidth is always greater than Channel  bandwidth.

Your Answer: Correct

True

False

1 / 1 pointOptical fiber cable work on principles of total Internal reflection.

Your Answer: Correct

True

False

1 / 1 pointFM and PM are the types of angle modulation.

Your Answer: Correct

True

False

1 / 1 pointFrequency and wavelenght are reciprocal to each other. 

Your Answer: Correct

True

False

1 / 1 point modulating Signal frequency is always greater than Carrier signal frequency.

Your Answer: Correct

True

False

1 / 1 pointShot Noise is the internal type of noise.

Your Answer: Correct

True

False

1 / 1 pointPCM stand for Pulse Code Modulation. 
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19.

20.

Your Answer: Correct

True

False

1 / 1 pointTelephone is an example of half duplex communication

Your Answer: Correct

True

False

1 / 1 pointIn communication transmitter acts as encoder.

Your Answer: Correct

True

False

SYBSc Ele.Sci. Sem-I Paper I Comm. Electronics. Internal Exam 28/03/... https://testmoz.com/8465434/admin/print?format=compressed&force_p...

8 of 25 15/04/2021, 5:47 PM



Jagtap Vaishnavi Rajendra
March 28, 2021, 11:22 a.m.

SYBSc Ele.Sci. Sem-I Paper I Comm. Electronics. Internal Exam 28/03/2021
11:00AM to 12:00 noon
Thank you for successfully! given Internal Exam.

Your score: 100% (20/20)
Duration: 0:25:18

1.

2.

3.

4.

5.

1 / 1 point…………….. is the example of half duplex   communication.

Your Answer: Correct

Walky- talky

FM Radio  

Telephone  

T.V.  

1 / 1 pointMinimum Height of antenna should be……………….

Your Answer: Correct

λ

λ/3

λ/4

λ/2

1 / 1 pointNeed of modulation to avoid ……………………..

Your Answer: Correct

Fading

aliasing

signal

Interference

1 / 1 pointThe process of transfer of information is called as …………………….

Your Answer: Correct

Communication  

encoder

decoder  

channel

1 / 1 pointNoise is ……………………… signal.

Your Answer: Correct

necessary
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6.

7.

8.

9.

10.

wanted

unwanted

required

1 / 1 pointggdfdbfg

Your Answer: Correct

Channel

bandwidth

information

None

1 / 1 pointVoice frequencies (VF) ranging from.........................

Your Answer: Correct

30Hz to 300Hz

3MHz to 30MHz  

300Hz to 3KHz  

20Hz to 20KHz

1 / 1 pointThe frequency range of FM radio is from ...................................

Your Answer: Correct

78MHz to 118MHz

88 MHz to 108MHz 

88GHz to 108GHz 

88KHz to 108KHz

1 / 1 pointSignal to Noise ratio is preferred …………..as possible.

Your Answer: Correct

zero  

High  

Low

infinity  

1 / 1 pointPPM is the ……………….type of modulation.

Your Answer: Correct

pulse analog

pulse digital  

analog
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11.

12.

13.

14.

15.

16.

17.

18.

digital

1 / 1 pointIndustrial noise is between 1 to 600MHz.

Your Answer: Correct

True

False

1 / 1 pointSignal bandwidth is always greater than Channel  bandwidth.

Your Answer: Correct

True

False

1 / 1 pointOptical fiber cable work on principles of total Internal reflection.

Your Answer: Correct

True

False

1 / 1 pointFM and PM are the types of angle modulation.

Your Answer: Correct

True

False

1 / 1 pointFrequency and wavelenght are reciprocal to each other. 

Your Answer: Correct

True

False

1 / 1 point modulating Signal frequency is always greater than Carrier signal frequency.

Your Answer: Correct

True

False

1 / 1 pointShot Noise is the internal type of noise.

Your Answer: Correct

True

False

1 / 1 pointPCM stand for Pulse Code Modulation. 
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19.

20.

Your Answer: Correct

True

False

1 / 1 pointTelephone is an example of half duplex communication

Your Answer: Correct

True

False

1 / 1 pointIn communication transmitter acts as encoder.

Your Answer: Correct

True

False
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Rupali khalate
March 28, 2021, 11:20 a.m.

SYBSc Ele.Sci. Sem-I Paper I Comm. Electronics. Internal Exam 28/03/2021
11:00AM to 12:00 noon
Thank you for successfully! given Internal Exam.

Your score: 75% (15/20)
Duration: 0:20:18

1.

2.

3.

4.

5.

1 / 1 point…………….. is the example of half duplex   communication.

Your Answer: Correct

Walky- talky

FM Radio  

Telephone  

T.V.  

1 / 1 pointMinimum Height of antenna should be……………….

Your Answer: Correct

λ

λ/3

λ/4

λ/2

0 / 1 pointNeed of modulation to avoid ……………………..

Your Answer: Incorrect

Fading

aliasing

signal

Interference

1 / 1 pointThe process of transfer of information is called as …………………….

Your Answer: Correct

Communication  

encoder

decoder  

channel

1 / 1 pointNoise is ……………………… signal.

Your Answer: Correct

necessary
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6.

7.

8.

9.

10.

wanted

unwanted

required

1 / 1 pointggdfdbfg

Your Answer: Correct

Channel

bandwidth

information

None

0 / 1 pointVoice frequencies (VF) ranging from.........................

Your Answer: Incorrect

30Hz to 300Hz

3MHz to 30MHz  

300Hz to 3KHz  

20Hz to 20KHz

1 / 1 pointThe frequency range of FM radio is from ...................................

Your Answer: Correct

78MHz to 118MHz

88 MHz to 108MHz 

88GHz to 108GHz 

88KHz to 108KHz

1 / 1 pointSignal to Noise ratio is preferred …………..as possible.

Your Answer: Correct

zero  

High  

Low

infinity  

0 / 1 pointPPM is the ……………….type of modulation.

Your Answer: Incorrect

pulse analog

pulse digital  

analog
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11.

12.

13.

14.

15.

16.

17.

18.

digital

1 / 1 pointIndustrial noise is between 1 to 600MHz.

Your Answer: Correct

True

False

0 / 1 pointSignal bandwidth is always greater than Channel  bandwidth.

Your Answer: Incorrect

True

False

1 / 1 pointOptical fiber cable work on principles of total Internal reflection.

Your Answer: Correct

True

False

1 / 1 pointFM and PM are the types of angle modulation.

Your Answer: Correct

True

False

1 / 1 pointFrequency and wavelenght are reciprocal to each other. 

Your Answer: Correct

True

False

0 / 1 point modulating Signal frequency is always greater than Carrier signal frequency.

Your Answer: Incorrect

True

False

1 / 1 pointShot Noise is the internal type of noise.

Your Answer: Correct

True

False

1 / 1 pointPCM stand for Pulse Code Modulation. 
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19.

20.

Your Answer: Correct

True

False

1 / 1 pointTelephone is an example of half duplex communication

Your Answer: Correct

True

False

1 / 1 pointIn communication transmitter acts as encoder.

Your Answer: Correct

True

False

SYBSc Ele.Sci. Sem-I Paper I Comm. Electronics. Internal Exam 28/03/... https://testmoz.com/8465434/admin/print?format=compressed&force_p...

16 of 25 15/04/2021, 5:47 PM



Shubham madhukar balgude
March 28, 2021, 11:38 a.m.

SYBSc Ele.Sci. Sem-I Paper I Comm. Electronics. Internal Exam 28/03/2021
11:00AM to 12:00 noon
Thank you for successfully! given Internal Exam.

Your score: 95% (19/20)
Duration: 0:20:32

1.

2.

3.

4.

5.

1 / 1 point…………….. is the example of half duplex   communication.

Your Answer: Correct

Walky- talky

FM Radio  

Telephone  

T.V.  

1 / 1 pointMinimum Height of antenna should be……………….

Your Answer: Correct

λ

λ/3

λ/4

λ/2

1 / 1 pointNeed of modulation to avoid ……………………..

Your Answer: Correct

Fading

aliasing

signal

Interference

1 / 1 pointThe process of transfer of information is called as …………………….

Your Answer: Correct

Communication  

encoder

decoder  

channel

0 / 1 pointNoise is ……………………… signal.

Your Answer: Incorrect

necessary
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6.

7.

8.

9.

10.

wanted

unwanted

required

1 / 1 pointggdfdbfg

Your Answer: Correct

Channel

bandwidth

information

None

1 / 1 pointVoice frequencies (VF) ranging from.........................

Your Answer: Correct

30Hz to 300Hz

3MHz to 30MHz  

300Hz to 3KHz  

20Hz to 20KHz

1 / 1 pointThe frequency range of FM radio is from ...................................

Your Answer: Correct

78MHz to 118MHz

88 MHz to 108MHz 

88GHz to 108GHz 

88KHz to 108KHz

1 / 1 pointSignal to Noise ratio is preferred …………..as possible.

Your Answer: Correct

zero  

High  

Low

infinity  

1 / 1 pointPPM is the ……………….type of modulation.

Your Answer: Correct

pulse analog

pulse digital  

analog
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11.

12.

13.

14.

15.

16.

17.

18.

digital

1 / 1 pointIndustrial noise is between 1 to 600MHz.

Your Answer: Correct

True

False

1 / 1 pointSignal bandwidth is always greater than Channel  bandwidth.

Your Answer: Correct

True

False

1 / 1 pointOptical fiber cable work on principles of total Internal reflection.

Your Answer: Correct

True

False

1 / 1 pointFM and PM are the types of angle modulation.

Your Answer: Correct

True

False

1 / 1 pointFrequency and wavelenght are reciprocal to each other. 

Your Answer: Correct

True

False

1 / 1 point modulating Signal frequency is always greater than Carrier signal frequency.

Your Answer: Correct

True

False

1 / 1 pointShot Noise is the internal type of noise.

Your Answer: Correct

True

False

1 / 1 pointPCM stand for Pulse Code Modulation. 
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19.

20.

Your Answer: Correct

True

False

1 / 1 pointTelephone is an example of half duplex communication

Your Answer: Correct

True

False

1 / 1 pointIn communication transmitter acts as encoder.

Your Answer: Correct

True

False
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Swapnil sanjay Gaikwad
March 28, 2021, 11:54 a.m.

SYBSc Ele.Sci. Sem-I Paper I Comm. Electronics. Internal Exam 28/03/2021
11:00AM to 12:00 noon
Thank you for successfully! given Internal Exam.

Your score: 80% (16/20)
Duration: 0:21:03

1.

2.

3.

4.

5.

0 / 1 point…………….. is the example of half duplex   communication.

Your Answer: Incorrect

Walky- talky

FM Radio  

Telephone  

T.V.  

1 / 1 pointMinimum Height of antenna should be……………….

Your Answer: Correct

λ

λ/3

λ/4

λ/2

1 / 1 pointNeed of modulation to avoid ……………………..

Your Answer: Correct

Fading

aliasing

signal

Interference

1 / 1 pointThe process of transfer of information is called as …………………….

Your Answer: Correct

Communication  

encoder

decoder  

channel

1 / 1 pointNoise is ……………………… signal.

Your Answer: Correct

necessary
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6.

7.

8.

9.

10.

wanted

unwanted

required

1 / 1 pointggdfdbfg

Your Answer: Correct

Channel

bandwidth

information

None

1 / 1 pointVoice frequencies (VF) ranging from.........................

Your Answer: Correct

30Hz to 300Hz

3MHz to 30MHz  

300Hz to 3KHz  

20Hz to 20KHz

1 / 1 pointThe frequency range of FM radio is from ...................................

Your Answer: Correct

78MHz to 118MHz

88 MHz to 108MHz 

88GHz to 108GHz 

88KHz to 108KHz

1 / 1 pointSignal to Noise ratio is preferred …………..as possible.

Your Answer: Correct

zero  

High  

Low

infinity  

1 / 1 pointPPM is the ……………….type of modulation.

Your Answer: Correct

pulse analog

pulse digital  

analog
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11.

12.

13.

14.

15.

16.

17.

18.

digital

1 / 1 pointIndustrial noise is between 1 to 600MHz.

Your Answer: Correct

True

False

1 / 1 pointSignal bandwidth is always greater than Channel  bandwidth.

Your Answer: Correct

True

False

0 / 1 pointOptical fiber cable work on principles of total Internal reflection.

Your Answer: Incorrect

True

False

1 / 1 pointFM and PM are the types of angle modulation.

Your Answer: Correct

True

False

0 / 1 pointFrequency and wavelenght are reciprocal to each other. 

Your Answer: Incorrect

True

False

0 / 1 point modulating Signal frequency is always greater than Carrier signal frequency.

Your Answer: Incorrect

True

False

1 / 1 pointShot Noise is the internal type of noise.

Your Answer: Correct

True

False

1 / 1 pointPCM stand for Pulse Code Modulation. 
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19.

20.

Your Answer: Correct

True

False

1 / 1 pointTelephone is an example of half duplex communication

Your Answer: Correct

True

False

1 / 1 pointIn communication transmitter acts as encoder.

Your Answer: Correct

True

False
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